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The Figures in the maorgin indicate full marks.
Candidote ore required to give their answers in their own words os forasp

-"l Group-A (Very Short Answer Type Question)
1. Answer any ten of the following . | s
ot 1 Dual of NAND function is :
\.)(f The half adder has inputs and full adder has _____ inputs. ,
{1 What is the indication of a short to ground in the output of a driving gate?
How is a J:K flip-flop made to toggle?
.,}( Ripple counters are alsocalled ____
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The NAND gate can functions as a NOT gate if
\M Reduce the expression f=A[B+C'{AB+AC")'] N
_ \% What is the minimum number of two-input NAND gates used to perform the functia

are the universal gates
Full subtractor is used to perform subtraction of bits.
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. PN o > '-
’ 1M How many data select lines are required for selecting eight Inputs? _-,;’ !
e PN, ) %

Group-B (Short Answer Type Question) : -:b

Answer any three of the following :

';llemﬁnl a NAND gate as OR gate using De Morgan's law and explain. Y _’-Qb
’%' What s the difference between a half adder and a full adder? " "‘/P‘b
, %

V4 :&:In the difference between decoder & demultiplexer
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B, Explain the difference between PISO & P . 9.;
’ -"_>

Group-C (Long Answer Type Question) Z:)"

Answer any three of the following: <. |~ 5?9

033 Hln-ﬂap in.detail. What is the disadvantage of it and how It can bec[I
«Wnaum circuits for a half & full subtractor and explain itin deulf PR

ltl!iom nf hllf subtnctor over full subtractor. > /:.J."g
W’mﬂdﬁenr & demultiplexer ?_’4'; AN

}“-

m a mﬁg‘hﬂe ‘explain the working JK.Flip-flop. Afsqlobbfnrﬁs
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